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Odd / even transforms
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For odd functions , fln ) wslkn ) is odd and the integral canals
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keep the co - sine
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And we can define the phase
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The vector k is thus  
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Application to Poisson equation to the gravitational potential
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Parsevothon
Think of  a vector V

. As  seen  in  aoordinde systems with

basis  vector es .  it an be written

v= § Vie,

where Vi are the components of ✓ in s
. As seen four another coordinate

system 51 with basis vectors it
,

it has a representation

v=§ viii '

obviously the length of the vector is  independent of the coordinate

system used to  represent  it
. In  other words

,
we must have

?vi2= §lv :

' 12

Proceeding with the analogy
,

for a function flu ) one can here a positron
space representation in f- function basis as

flu ) = ffkel fln .  n 't dn

where the .  '

component
"

of fall along the " basis vector
"

Sln - nt ) is flt ' )
and we sum over  all the possible axes . One  can look at the same

function in Fourier space representation as

flnlifglkleiikhdk



where it
'K×

are the
" basis  vectors

"
and glkl are the components effhe) .

along these basis vectors
. You  would then agree that

/ lflnltdx  = flgckltdk
6

, Parcevd theorem  is just the restatement of the invariance of the

length et  a vector
, independent ofthe representation used .

In our case it means that the energy in  red space is equal to the  energy
in Fourier  space .

Ptolemy . Greet astronomer with wrong theory . Described the

geocentric model nearly to perfection ,
thus able H pteohet cometh

the position of the planets .

It's so good it's used today in planetaria all around the World
to simulate planet motion . Geos and molars subs t.tk

ep
.  ydes .

Aristotle : Earth Air wdn Fire
.

Seek natural places

Rain ( wdn ) fells from sko
Rocks ( eerlh ) fell when thrown

Smoke ( air ) rises

Flames ( fire ) rise .



Epicyds
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